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[ 110]
This question booklet is divided into
two sections — Section-A and
Section-B.
In Section-A, there are
100 objective type questions, oul
of which any S50 gquestions
are to be answered First
50 answers will be evaluated in
ocase more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen agains! the correct option
on OMR Answer sheet provided 10
you. Do not use whitener / lgquid
/ blade / nail ete. on OMR-sheel,
otherwise the resuit will be
treatad {nvalid.

" In Section-B, there are 30 short

answer fype questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are 8 long answer type
questions, out of which any
4 gquestions are to be answered.
Each question carries 5§ marks.

Use of any electronic appliances is

strictly prohibited.
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uvg - &/ BECTION - A

TGRS W9 / Objective Type Questions
g¥T wear 18 lmwtmtmwmwwfﬁrﬁ#wﬁ#r

frF 50 qyt & awr arwd v A 7 W Freee o OMR Wiz W RIET
1] 50 x 1 =50

Question Nos. 1 to 100 have four options, out of which only one ts correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1=50

1. uR P(%J),ﬁ%:ﬂ’i A(-6,5) a(-z_slﬁﬁsﬁaﬁ%@ﬁzw
qufig }, @ a1 WA B

(A) -8 B) 3
(C) -4 (D) 4

If P[%, 4] is the mid-point of the line segment joining the points

A{-6,5)and B(-2,3), then the valucof ais

(A) -8 B) 3
c -4 (D) 4
2. R i farg wtfies § @ IR W3 FngE 1 R w0 @ 2
(A) 1 B 2
() © Oy 3

If three points are collinear then what is the arca of the triangle

made by them ?
A) 1 B) 2
(C) O o) 3
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[110 ]
af aapc % Ml ¥ fdwiw A(-1,0), B(5, -2) W C(8,2) & i

TGF FgF & HeHH Bl

(&) (12,0) (B (6,0)

(C) (0,6} (D) (4,0)

if A(-1,0), B(5 -2} and C(8, 2) are the vertices of a AABC then
co-ordinates of its centroid are

(A) (12,0) B) (6.0)

(€} (0,6) (D) (4,0)

af} Brm ABC® AD, ZBAC®! 3d®  aul AB = 10 &, AC= 14 adl,

BC-6BM A DCHWAAE
(A) 2.5 AW (B 3-53f
(C5 4-5 9 (D) «3A

Il in AABC, AD is the bisector of ZBAC and AB = 10 cm,
AC = 14 ¢cm, BC = 6 cm then the value of DCis
(A) 2-5cm (B] 35cm

[C) 45cm (D) 4cm

finw ABC 3DE || BC sﬂm%%—g—%=%.uﬁﬂc=§-eﬂﬂ1aﬁ

AE =7
@A) 428 (B 318
c) 28%f (D) 213
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[110]

In AABC, DE | | BC such that %g:% If AC = 56 cm then AE = ?
(A) 42cm B) 3lem
(C) 2-8cm (D] 2'1em

ﬂﬁﬁmﬁgﬁﬂﬁﬁnﬂwaﬂﬂms;eﬂﬁaﬁmﬂﬁfﬂﬂ

¥ATE B
(A)  25:36 B) 5:6
(C) 36:25 (D) 15:16

If the ratio of corresponding sides of two similar triangles 1 5:6

then the ratio of their perimeters is

(A)  25:36 B) 5:6

(C) 36:25 (D) 15:16

AABCH AB = 6J3 @M, AC= 12 8l a0 BC = 6 @ft @l ~BEM
(A)  45° (B) 60°

(C) 90° (D}  120°

In AABC, AB = 6J§cm, AC=12cm and BC = 6 cm then /B 1s

(A) 45° (B) 60°

(C) 90° (D) 120°

afe wwarg e ABC 1 €% o1 12 ¥t 7 wMaRg g DEF 1 @
#3%d (AABC)

W 6 f & A &A% (ADEF)

(A) 2:1 B) 1:2

(C) 4:1 (D) 2:3

_Fz-‘ﬁﬁ}-H{S—fHDOl-m.rm] Page S of 48




10.

[ 110
If one side of an equilateral triangle ABC is 12 cm and one side of

. ‘ . arca (AABC) _
equilateral triangle DEF is 6 cm then arca (ADEF )

(A)  2:1 B) 1:2
C] 4:1 D) 2:3

AABC T APQR wiwd finw ¥ fmd ap, ¥ 4 & BC W o= R A
PTYH PA QR R 81 R AD=9 ¥ @& pr=7 4ft ® & B[

ABC wut faa PQR % §3%l 1 RO B
(A} 9:7 B 7:9
(C} 16:25 (D) 81:49

AABC and APQR are similar triangles in which AD is perpendicular
from vertex A to BC and PT is perpendicular from vertex P to QR. If
AD = 9 cm and PT = 7 cm, then ratio of areas of triangle ABC and

triangle PQR is
(A) 9:7 By 7:9
(C) 16 : 25 (D) 81:49

T T By A o o 12 & 8 A w9 e

(A} 642 @ . (B) 6/3 uft

(€] 3J6 &t (D) 6J6 uHfl

If one side of an equilateral triangle is 12 cm then its height is
(A] 642cm (B) 6J3cm

() 3J6cm (D) 6&v6cm
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12.

13.

LI T
AN
*

B 7w @ D v e 3 0 A @ 0 M L A I AR

(A 10 |=t (B) < aft
L) sa D) 12 &

The distance berween two paralle] mangents of a circle 1s 10 cm.
Then the radius of the circle is

(A} 10cm (B) 8em

(C) Scom D 12cm

2 g7 3l oI = | weRr W w@ @ at sl wlieed ) @ =
gl 2

Al 1 B 2

c 3 (D) 4

If rwo circles touch each other externally then what is the number
of common tangents ?

A 1 | 2

c 3 D)y 4
ﬁﬁﬂmﬂﬁgpﬂqammtﬁPHfiﬂﬂmﬁnﬁiwﬁ

PA=6 FH a PB-
(a) 12 B) 69

(C) 8E&H () 18%A

[2a(M)-H/S-4 1001 -worso Page 7 of 48
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13,

(110]

From an external point P, two tangents PA and PB arc drawn on a
circle. Il PA= 6 cm then PB =

(4) 12cm (B 6cm

(C) 8cm | (D) 18cm

af2 3 3 e R o g W e T TR wER 60° F R TEH
& A e et R s @

@) 243 ¥ B 2
(C} 343 & (D) 4 &t

If two tangents drawn on a circle of radius 3 cm are inclined to

each other at an angle of 60°, then the iength of each tangent is

(A) 2J3cm (B) —%—icm
(C) 3J3cm (D) 4cm

AR sin(20°+8) =cos 30° T 0 F AW &

(A) 30° (B 40°
[C) 50° (D) 6Q°
If sin{20°+90) =cos30° then the value of 8 is
(A)] 30° (B) 40¢

() 50° (D) 60°
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17.

18.

19,

afd aABCHLC=90° @ sin (A + B) = o]
(A) O B) 1
© 3 D) -
If in AABC, £C = 90° then sin (A + B) =
(A) 0 (B) 1
© = (D) 3%
sec?23" -tan223"' 42 =
A) O B 1
€ 2 (D) 3
gf2 xcosB=1,tan 0= yal x*- y° F A 3
(A} 2 B) O
€ -2 ' o) L
If xcos@=1, tan 6 = y then the value of x?-ylis
A) 2 - B) O
C) -2 © (D) 1
gfe tanez% A sinb =
w2 B 2
© + o 2
24(M) 11/5-41001-ts0/60)] Page 9 of 48




[ 110

if tanﬂ:% then sin 0 =

4 2
(I ® 3
3 3
€ 3 D) 2
l1+cos A
20 J l-cosA
(A} cosec A-col A (B) cosec A+ cotA
(C) cosec A.cotA (D) sinA.tan A

21. tan 5°.tan 25°. tan 30°. tan 65° . tan 85° =

A) 1 B) 3
1 1
C —_— D 2
(C) 73 D) 7
22. co0s 38° cos 52° - sin 38° sin 32° =
(A} 1 (B O
1
€ 2 O 5

cosec 42’ y cos 37 B

23, - :
sec48 sina3

(A) O | 1

2

c 1 (D) 2

[23(M|-H/5-4 100 -reo/s0) Page 10 of 48




24.

25.

[110]

) 4 tan(a+|'5}=J3-3ﬂ'{tana =71§?htanﬂﬂﬂﬂﬂi

w 1 B =

C) - 7

(€) 75 (D) 3

If tan({a + @) =43 and tana =—J% then the value of tan p is

A g I

© o £

. n

J2 (sm% H:DSE] =

(A) 2 ' B) 2
1

c)y 1 . D) 3

26. die acos0+bsind=4 7Y asin®-bcos0=3 @A a2 +b2 FUH B

A 7 B) 16
(C) 25 (D) -36

If acos0+bsinf=4 and asin8-bcos8=3 then the value of

a? +b? is
(A) 7 (B 16
(C) 235 (D) 36

’24IMJ'H/ S-41001 -tso/60) | Page 11 of 48




27.

28.

29.

[110]

3 ¢t s el 1 g 2 y? & ) S Bl ST

2. y? B) Vx iy

A XY

€ y:x D)y x- ¥

. .2, .2 i
The ratio of the arcas of two circles is x”:y°. Then the ratio of

their radii is
A xiyl B) JYx iy
(C) y:x (D) x:y

fret 39 #1 8w 49 @ At ]t e SIW AT

(A) 7@ (B) 14 8

) 49uf (D) 21 &

The area of a circle is 49r square cm. Then its diameter is
(A) 7cm (B) l4cm

(€ 49cm (D) 21cm

5 7o § 14 @ e % ofg & gro @@ it 18 g @

(A) 400 &f (B) 440

(C) 288w (D) 388 &

The distance covered by a wheel of radius 14 cm in S revolutions is
(A) 400 cm (B) 440 cm

(C) 288cm (D} 388 cm

24(M)-H/S-41001-(60/60 Page 12 of 48




30.

31.

32.

: 110
““*‘m@@“ﬂmmmmqﬁmﬁ#ﬁé

am
A  1:1 B) 2:=x
(C) n:2 (D) Jr:2

If the area of a circle is equal to the area of a squarc then the ratio

of their perimeters is
(A 1:1 B 2:=x
(€C) =n:2 (D) Jx:2

Ife p[x)=x4—Sx+6E3 gQlx)=2-x ‘aa P({x}liﬂﬂlﬂ@m

(A} 2 (B) 4

) 1 (D)

If p(x)=x"-5x+6 and q(x)=2- x?, then the degree of P‘[ ll

w2 (B)
cy 1 (D)

fraferfaa & @1 Raw aftwm 2 2

A] x?-3Jx+2=0 B x+i—=x2

© x*+—=5=5 (D] 2x*-5x=(x-1)

Which of the following is a quadratic equation ?

(A) x2-3/x+2=0 (B} x+%=x

€ xP+5=5 (D) 2x*-Sx=(x-1)°

i24{M]-H/S-41001-mfm| Page 13 of 48




33.

34.

35.

I]:.‘J_

afe, R ae 57 +2kx+ 4=0 FCH A 22 A k F

A) -1 (B) -2

) 2 ) (D) -4

. 2 A |
Il one root of the quadratic equation x” +2kx+4=0 is 2, then the

value of k is

A -1 B) -2

c 2 D) -4
A (x+3), ax+ x+1 %ntzaagmﬁérélﬁ a %1 9 &

(A) 3 B 2

2
(C) g D) 9

Il {x+3) is a factor of ax? + x+1 then the value of a is

{A) 3 (B)

(SY[Y+]

@ £ D) 9

p & f&E 17 ¥ i Rum mhem px*-2x+3=0%n§mmﬁmqé

(a1 (B)

< 3 (D)

A |

24(M)-H/S-4100 1-(80/60)
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36.

37.

[110]

For what value of p, roots of the quadratic equation px*-2x+3 =0

arc real and equal ?

T 1
(B) 3

€ 3 1
D) 5

fram @ 6x° - 3x+5=0 % qel A wph ¥ @R 2
(A) ATEaS @ A (B) aTEafy® wd §OH

(€) STt T8 (D) @ =R A€

Wwhat is the nature of roots of the quadratic equation

6x%-3x+5=07

(A) Realand uncqual (B) Real and equal

(C) Not real ' (D) None of these

af faama wdtEm x2+x-ao=pmﬁq§4ﬁ?hwqyﬁ{ﬂﬂm
(A) S (B -4

Cj -5 o 3

e root of the guadratic equation x2+x-20=0 is 4 then its

If on

other root is

(A) B) -4

) -5 (D) 3

[24(M)-H/S-4 lOOI-tsﬂflﬂii Page 15 of 48
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. 2
38. ufk Rom afew x° +6x+5 =0 %ﬂ.ﬁa@ﬂaﬁ' o o TR
(A) 30 (B) 16
(C) 26 (D) 20

. : 2 -
If @ and f,are the roots of the quadratic equation X +6x+3 =0

then the value of o +[32 is
(A) 30 (B)] 16
(€ 26 (D) 20

39. fium wfvm px?-gx+r=0, p#0 F 0 €

(Al qt Jq2—4pr B qt ‘}qz +4pr
2p (B) 2p
—qﬂ:{qz—-fipr -g* q2+4pr
(C) (D}
2p 2p

The roots of the quadratic equation pxz-q.t+r:0 , p¥0 are

q:t-'fq:"-—clpr quq2+4pr
(A) (B
2p 2p
-quq2—4pr -g q2+4pr
(C) (D)
2P 2p

40. TR x = — 1 Q1 whwwi 2x*+3x+ p=0 3K qx:-qx+4=0 ® TH
(A) 1 (B} -1
c 2 (b)) -2

|24[M]-Hj$-41001-mnm Page 16 of 48




41,

42,

(110]

If x=-11is a common root of both the eguations 2x2+3x+p=0
and gx° - gx+4=0 then the value Of.p-i- q is

(A} 1 (B) -1

(C) 2 (D) -2

W A T, e E S e 15, e M@ SHA A M S
ored gata fawer g

(A) 20072 (B) 210 2

(C) 250 ? (D) 220 &t 2

The length, breadth and height of a cuboid are 15m,6mand Sm

respectively. Then the lateral surface arca of the cuboid 1s
(A) 200m? () 210m?

(C) 250m? (D) 220 m*

sﬂﬁwaﬁmﬁﬁ4ﬂﬂ1waﬁﬁmﬂmmmaﬂ%p

(A) 4 B) 8

(c) 12 (D) 16

How many cubes of side 4 cm can be formed from a cube of side

8cm?
(A) 4 (B) 8
) 12 (D) 16

[24(M)-H/5-4 100 1-1s0760) Page 17 of 48
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J "
d! u@%mmﬁmﬁﬁﬂﬁmzsﬁﬂl.4ﬁﬂﬁm5ﬂ‘ﬂ%ﬂﬁmﬂm

Emmnﬂlﬁﬁmﬁmimmwﬁm?
(A 72%f? B) 144 % *
() 128%H ° D) 256 % °

Three cubes of metal with cdges 3 cm, 4 cm and S cm respectively

are melted to form a single cube. What is the lateral surfacc arca of
the new formed cube ?
(A] 72 cm? (B) 144 cm”
(C) 128 cm? (D] 256 cm”
44, A oA Bremall w1 a2 ¢ 3 T IR FaTEE W AIE S5 : 3@ Al
% THEAl F N
(A) 27:20 (B) 20:27
€ 4:9 (D} 9:40
The radii of two cylinders are in the ratio 2 : 3 and their heights are

in the ratio 5 : 3. The ratio of their volumes is
(A) 27:20 (B) 20:27
€ 4:9 (D) 9:40

45, ﬁmﬁ_mﬂmlrﬁomzﬁmmaﬂwﬁﬁm
14 3 2 &ty = @i
(A) 10 @ (B) 15 &
(€) 20%&# (D) 40 &

24(M)-H/S-4 1001 -is0760) Page 18 of 48




46.

47.

(110]

If the curved surface area of a cylinder is 1760 cm? and its base

radius is 14 cm then its height is

(A) 10cm (B) 15cm

(C) 20cm (D) 40cm

w UIg F TR A aw B 4 ok et B 3 &0 AR R
g 10 At @ ) uTg % e B

(A) 120 &t * (B) 220 a3
(C) 440@f ? (D) 1540 & 3

The external radius of a pipe of metal is 4 cm and internal radius is

3 cm. If its length is 10 cm then the volume of metal is

(A) 120cm’ (B) 220 cm®

(C) 440 cm’ (D) 1540 cm®

afe felt Wi ¥ SmuR A e ¢ wd g el e ! R, A T9F F1 T
gy &1 AFEA &

(A) 3 arl (B) nrl

) -'e;nrr D) 2 nrl

If ris the radius of the base of a conc and [ is its slant height then

the curved surfacc arca of the cone is

(A) 3 mnrd (B) mri

1

€ Furl (D) 2 xrl

————

4IMI H}§_ 001 twfull Page 19 of 48




49.

[110|

14 36 =@ AT AP w7 ot JAT AT T
2

(A) 147 n B7ft 2 @ 1982
2

(C) 488 n¥h 2 (D) 396 n &l

The total surface area of a hemisphere of diameter 14 cm 1S

(A) 147 n cm? B) 198 ncm?

(C) 488 ncm? (D) 396 n cm?

W OF @ AT 1570 A3 31 oRR s amum #1 SF%A 314 v R,

A ot Fard @
(A) 10 @+ (B) 154t
() 18 &t (D) 20 &

The volume of a cone is 1570 cm®

. If the areca of its base is
314 cm? then its height is

{A) 10cm (B) 1Sem

(C) 18 e (D) 20cm

24(M}-H/S-4100] -(80/60) , Page 20 of 48
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7 @ e ) Bsm 2r 2 @) e rgER @

50.
321’”"3 lﬁnra
(A) 3 (B} 3
c 2 nr’ 5 &4
3 (D) 3
If 2r is the radius of a sphere then its volume is
321'“'3 1611:?'3
(A) 3 (B) z
8 m_.'i 54ur'3
€ 3 (D) .
51. mﬁa~3,—%, 2, ... @ 114 9 &1 gm ?
(A) 28 | 22
(C) -38 (D) -48
]
What is the 11th term of the A.P. - 3, - 2 2,...7
(A) 28 (B) 22
(c -38 (D) -48
52, =Wiq 94 41, 38,35, ..., 8 i odi # & 2
(A) 12 (B) 14
C) 10 (D) 15
The number of terms in AP.41,638,35,..,8 is
A) 12 (B) 14
(€) 10 (D) 15

R et S —
|24{M}-H/S-4lﬂpl-iﬁofﬁﬂl| Page 21 of 48




' : [ 110,

53. Wi AR 2, 4, 6, 8, ... % Wau 50 TG W1 B €M
(A) 2500 (B) 2550
© 2005 (D) 2000

The sum of first S0 terms of the A.P. 2, 4, 6, 8, ... is

(A) 2500 B) 2550
[C) 2005 (D) 2000
54. &g (247, -3 ) Pruequtnid 2
(A) Su" B) feda
€ i (D) =g
The point {247, - 3 ) lies in which quadrant ?
(A) first (B) second
(C) third (D) fourth

55. frgai(2cos6,0) W (0,25in0) Sdafighe
Ay L B) 2
) 3. (D) 4
The distance between the points { 2 cos 8,0)and (0,2 sin @ ) is
(A) 1 (B) 2
(] 3 (D) 4
24(M)-H/S-41001 -te0/60,
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56.

57.

58.

1110
T Y@ x = - 2 Y] y = 3 % e Fog

A) (-2,3) B) (2,-3)
€ (3,-2) (D) (-3,2)
The intersecting point of straight lines x=-2 and y= 3 is
(A) (-2,3) B} (2,-3)
€ (3,-2) (D) (-3,2)

fgalt (7,-4) @ (-5, 1) S dahrgh?

(A 12 (B) 13

(€ 11 (D) 5

_ The distance between the points (7,-4 ) and (-5, 1) 1s

(A) 12 (B) 13

c) 11 (D) 5

_y-mamaﬁﬁgaﬁﬁgdfs,—zyt{a‘(-s,zjﬁqﬂqma,t

{AJ [0-3] (B} [_210)

€ (0.-2) D) (2,2)

The point on y-axis which is equidistant from the points (5, - 2)

and (-3, 2)1is

(A) (0,3) (B) (-2,0)

() (0,-2) (D) (2,2)

[22(M)-F1/5-4 100 L-(s0/60) Page 23 of 48




29.

60,

| 110
2 1 o
mﬁsﬁmé.ﬁaﬂnﬁﬂpqo,m.G(ﬁ,OJ-Rif’: ) @

S(0,2)% @ G F Yaihet M

A} 6 B) 8
(C) 1o D) 12

PORS is a rectangle whose vertices are P( 0, 0}, @ 6,0), R(6,2)

and S(0, 2). The area of the rectangle is

Ay 6 (B) 8

© 186 D) 12

afé A(a,0). B(0,0) W@ C(0, b) Frh aaBC & W¥ § @ AABC W
BEwE €

(A} ab B) Sab
. i 2,2 _l. 2
(C) 54 b I(D] 5 b

If Ala,0), B(0,0) and C(0, ¥ are the vertices of AABC then the

area of AABC is

(A) ab (B _é_ﬂb
1 2.2
lcl "2"0 b (D} % b?

24{M)-H/S-41001 -1e0; 50,
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6l.

62.

freiforfiaa & #17 g & 2
(A)  x“+45 B) 9x%-ax+y2
(C) %x3+%x?+8 (D) x+%

Which of the following is not a polynomial ?

(A) x*+yd5 (B) 9x2-4x+42
1.3 3 2 3
(C) -2-1: +-5-x +8 _[D] x+=

9844 (xs +x2+3xl{x6 x> +x2+1) F UM &

(A} 9 B) 6

11 (D) .10

(110]

6,.5, .2 :
The degree of the polynomial (x°+x°+3x) (X" +x° +x" +1) 18

{(A) 5 B) 6

() 11 (D) 10

63. AEIE x2-11 F ITH ¢

(A) 11,-11 B) 11, -411
€ J11,-V11 o) J11,-11
The zerogs of the polynomial x* =11 are

@A) 11,-11 B) 11, -+11
€ V11, -411 Dy V11,-11

24(M)-H/S-41001-(s0/60) ]
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64. T -2 - 3 Rum wgm 12+ (a+l)x+b FAIF A
A) a=-2,b=6 B] a=2b=-6
(C) a=-2,b=-86 D) a=4,b=6
If - 2 and - 3 are the zeroes of the quadratic polynomial
x?+{a+1)x+b, then
Al a=-2,b=6 B) a=2b=-6
(C) a=-2,b=-6 (D) a=4,b=6
65. IR TGQ x?-9x+a ¥ YRS = AET 82 A a H! AH BM
A}y 9 o @ -9
(C) 8 | (D) -8

If the product of zeroes of the polynomial x*-9x+a is 8 then the

value of a is
A) 9 B) -9
(C) 8 (D) -8
66. frfeiitga d fre QUM agR S yIF 4 W@ - 28 2

(A) x?-2x-8 B} x*+2x-8

[C) x%-2x+8 (D) x%42x+8

24(M)-H/S-41001-(s0/60) Page 26 of 48




67.

B8.

: [ 110)
Which of the following quadratic polynomials has zeroes
4and -27?
®  x*-2x-8 Bl x?+2x-8
(C) x2—2x+8 (D) x2+9x+ﬂ

ﬂﬁ"@ﬁ p[x]=x2+3xu4ﬁwﬁasuqai|3€ia‘l %ﬂmqﬂﬂ’ﬂ

{A) -1 B 1

€ 4 D) -4

If @ and B are the zeroes of the polynomial p[x]=x2+3x"'4 then

the value of GTE' is
(A) -1 B 1
<) 4 (D) -4

Ife UG g(x) F TE IAF - 3@ @ g(x) B Th PHEE g

(A) x-3 (B) x+3
1
C) —=x D —3

If one zero of the polynomial g{x) is - 3 then one factor of g{x) is

(A] x-3 (B] x+3

1
© —3 0 —

24[M]-H}'S-41001—|&0m : Page 27 of 48




69,

70.

71.

| 110
A R A
ﬁ flxl=x4“21f3—x+2 =l g(x]=x2-3I+2 d W feamn

WIS &1 910 BT
(A) a4 B 2
€ 3 I

' 2
I fix)=x"-2x>-x+2 is divided by g(x)=x"-3x+2, then the

degree of the quotient is

(A) 4 B 2

cr 3 D) 1

R x9e x?-3x+1)-5 F TF W B & A (a+1) (B+1) B AA B
A3 B) -3

€ -4 | D) 4

I a and p are the zeroes of the polynomial x? -3(x+1)-5 then the

_value of (a+1)(B+1}) is

(A} 3 B -3
<y -4 ' (D) 4

- wan | faww wwmatt w5 ey 2

(A) 100 (B] 10
(C) 50 D) 20
The mean of first ten consecutive odd numbers is
(A} 100 (B) | 10

(C) 50 D) 20

24(M)-H/S-4100 1-i60/60)
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72. 15,6, 16, 8, 22, 21, 9, 18, 25 &I rftw 2

(A) 16 B) 15

(C) 21 (D) 8

The median of 15, 6, 16, 8, 22, 21,9, 18 25 is -

(A) 16 (B) 15
) 21 D 8

73. U,5|5| 1|5r4|3_0.2:6.5,ﬁiﬁli§ﬂﬂ?#

[A) S B] 6
(C} 2 (D) 3
The mode 010, 6,5, 1,6,4,3,0,2,6, 5, §is
(A) S B) 6

(C) 2 o 3

(110 ]

74. UH SRERA] €24 % T @ g H 4864 TE 46-52 & @ U

ureq g
(A) 4970 (B) 49
() 50 D} FH & #ig A&

[24(M)-H/5-41001-i60/60)
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75.

76.

[110]

. huti 48:64 and
The median and mode of a [requency distribution &rc

46-52 respectively. Then its mean is
(A} 49.70 B) 49
{C} 50 : (D) none of these

qﬁqhﬁﬂuﬁ x,x+2_x+4.x+6qj x+8ﬁlm llﬂ?ﬁxiﬂnﬂ
am

A) S B) &
i 7 (o) &

[f the mean of five observations x, x + 2, x + 4, x+ 6 and x + 8 is

11 then the value of x is

(A) 5 (B) 6
c) 7 (D) 8
Tsh HEvE U1 6 Wiehan &7 ghft 2
1
A 5 | o0
€ 1 (D) 18 <M

What is the probability of an impossible event 7
(Al = B) o0
2

() 1 (D) more than 1

[24(M)-H/S-41001-(s080
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77.

78.

| 110]
e P(E)=0.4 A P(E') w1 TR 2
(A) 096 (B) 06
€ 1 (D) 006
If P(E) =04 then the value of P(E')is
(A} 096 (By 046
A (D) 006
3 aEl S % § @ve ghem ) §@ 2
(A) 12 ' (B) 20
(C) 36 (D) 6
In the throw of two dice the number of possible outcomes 1s
(A) 12 (B) 20
(C) 36 (D) 6
Sl § s- gen Redt g & ot 78 @ wwd 8 2
(A] 06 (B) 1'5
) 75% o 2

Which of Lhe following numbers cannot be the probability of an

event ?
(A) 06 (B) 15
C) 75% (D) -52-

24(M)-H/S-4 1001 ~s0/60| Page 31 of 48
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80. ﬁﬁiﬁwﬁﬁﬁﬁwmﬂmﬁwm%?

1
A) O Bl 7

€ o) 1

' throw
What is the probability of not getting an odd number In & of

a die once ?

(A) O (B %
1
© 3 o 1
81. = 2a+3b=81g 3a-4b=-5@ @
(A) a=1,b=2 B)] ae=2,b=1
(C) a=-1,pb=2 (D) a=2,b=-2

If 2a+ 3b = 8 and 3a-4b=-5, then
(A a=1, b=2 B a=2 b=
C) a=-1,b=2 (D) a=2 b=-2

B2. W wlfih Im 2x-3y-8 W 4x-6y-9 ¥

(A)  Em (B] ETI

(C) anfm D) +H A d 3§

The pair of linear equations 2x - 3y; 8 and 4x -6y =9 are
(A)  consistent (B)  inconsistent |
[C)] dependent (D] none of these

24[M1-Hf5-41001-[m15u|| Page 32 Dr-ﬁ




83.

B4.

| 110]
Tl 2x +3y=4 W& 4x+6y=12 & Fe@ frm wwn H T tard

gl ?
(A) w9 T t@nd (B) WHIR &t @K
(c) vh=ad we W D) ¥ AT

The graphs of the cquations 2x+3y=4 and 4x- by=12 are which
Lype of straight lines ?

(A) Coincident straight lines

(B) Parallel straight lines

(C) Intersecting straight lines

(D) None of these

HHfteRO PrETa 2x-3y+1 =0 W 3x+y+2 = 0 & foe gl € ?

A) EIRFWE @ (B BEF A
(c) afaEa (D) ¥ & F9 &

How many solutions does the system of linear equations
2x-3y+1 =0 and 3x+y+2 = 0 have ?

(A} one and only one solution

(B) no solution

(C) infinitely many solutions

(D) nonc of these

|24[M}-H/S-41001-¢awmf Page 33 of 48




835.

86.

87.

[110i
k % frg 7 ¥ R e A xr2y=3 T Sxrky=15 & w5

WE?
(A] 5 - (B) 10
[C) 6 (D) 12

For what value of k, has the system of lincar cquations X+ 2y=3

and Sx+ ky =15 infinite solutions ?

(A} S B) 10

€C) 6 (D) 12
Preafefga § o s 3@ 2 2

(A) 03, 0-33, 0-333, ... 8 1,11, 111, ..

(C) 2,4,8,16, .. (D) 0,-4,-8,-12,..

Which of the following is an A.P. ?

{a) 0-3,0-33, 0-333, ... 8 1,11,111, ...

(C}] 2,4,8, 16, ... (D) 0,-4,-8,-12, ..
pdfeAa TR & e (2p+ 1), 13, (5p-3 )T A & 2 -
Ay 3 B) 4

(C) 12 D)y 6

For what value of p, terms { 2p+ 1), 13, (5p-3)arcin AP, ?

(A) 3 (B) 4 ‘
(C) 12 D) 6 |
24(M)-H/5-41001 15080 Page 34 of




B8.

89.

S0.

. (110)
TR o T A 3,8, 13,18, .. M naA @R D ay-ap T T

gm ?
(C) 40 (D) 55

Il a_ is nth term of A.P. 3, 8, 13, 18, ... then whal is the value of

Qps =B 7
(A) 30 B) 75
(C} 40 (D} 55

Waﬁwwwma%wmsaﬁwzsﬁ?ﬂﬁfﬁwmém
i :

Ay S B) 4
c 3 D] 6

The 2nd term of an A.P. is {3 and its Sth term is 235, The common

difference of the A.P. is

a) 5 B) 4

© 3 D) 6
ﬁmﬁﬁ#mnqﬁwﬁﬂ{&-nzliama@mmm

&m
A} 4 (B) -2

() 2 (D) 6

|24[Ml-H/S-41001-gm;u|| Page 35 of 48




91.

92.

| 110]
2 the commyg
. -7 , lhcn n
If sum of first pn terms of an A.P. is (9N

difference of the AP, s

A) 4

B) -2

(C) 2 (D) 6

64 16

8 tyg °
(A)  dform gem (B) aWidE ®&N
(C) s wem (D) WFa @@

64 16 .

‘B_l* + —g- 1S
(A)  Rational number (B) Irratonal number
(C)  Anintecger (D}  Natural number

2 aafoe wemat 24+ wen 3-45 & %A B U

(A)  wfe dem (B) 3mfig Hen

(€ s Hen (D) S e

The product of two irrational numbers 3+J6 and 3-J5 will be
afan

(A)  Rational number (B} Irrational number

(C) Integer (D)

Natura] number

24(M)-H/S-4100 L-(s0/60) |
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04,

95.

(110 ]
(0-3 +0-4) 1 HEY &9 3

7 [
(A) -1'5 (B) 3

7 7
(C) 11 (D} 3

The simplest form of [O-E + O-E] 1S

(A) T% , (B) g.
7
(C) 57-1 O 35

IR 156 =2"x ¥ x13Z A A x+ytz=

(A) 4 . (B) 5
c 3 D) 6

If 156 = 2" x 3¥ «13% , thenx+y+ 2=

(A) 4 (B} S

() 3 (D) 6

J10 xJ/15 R

(A) gioig E& (B) Wit T

() s wewm (D) N/ FEA

JTE XJE is

(A) Rational number (B) Irrational number
(C) [nteger (D) Natural number

l24IMl-HJ’ S-41001-e0/60) | Page 37 of 48




| 110
p
6. > oom % w0 H 0105 A forar 31 FHA 2
A 21 8 21
@ 21 _21
2352 ol 2x 5°
In the form of , 0105 can be wntten as
27 5™
21
(Al 21
22! 52 (B] zax 53
() 21 21
29 & 52 () 2x 5'3
S7. AR T wEna w1 Rowo - 25 3t Fowo = 50 2 & FEnAt | AN
ghm
(A) 1250 (B) 1150
(C) 1350 (D) 1050
If H.C.F. of -
ol two numbers = 25 and L.C.M = 50 then the product of
numbers will be
(A) 1250 (B] 1150
(€C) 1350 (D} 1050
gsf qﬁ ‘TFT .G\Fﬁﬁm =5 =
a=bg+r ¥ b 61,q=-27ﬁﬂ7r=32aaamm
[ B 2
A 16
(A) 79 (B) 1600
C 16
(C) 69 (D) 1698
24(M}-H/S-41007. o5
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a9,

100.

. [ 110 ]
If in division algorithin a-bgir, b = 61, q =27 and r = 32, then

what 18 the value ol g P
(€) 1o69 D) 1696

afd q ua v yle § Q) Pl § 8 @ e e Qo L

(A)  6g+ ] M) 6g+ 2

(C) Oqg+4 D) 6Ggq+6

If ¢ is n pesilive integer, which of the following is an odd positive
integer ?

(A} 6g+ 1 (B) 6g+ 2

(c} 6g+4 D) ©6q+6

&) ermman faww HEH] &1 HoHo wran R

A O B 1
€ 2 D) 3
The H.C.F. of two conscculive odd numbers is
Ay Q (B} I

© 2 (D) 3

@M]—if_‘ﬁ-_y 1001 -j60;00) |

S
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¥y wsar 1@ 30 7% wy a4

v & Ry 2 5% Fratfia 41

Question Nos. 1 to 30 are Short Answer

15 questions. Each question carries 2 marks.

1.

[HQ]

g - @ / SECTION - B

WY IATIT 9T / Short AnSWer Type Questions
g @ P 1577 F I & g

Type Questions. Answer any,
?5 M 2 = 30

mﬁgmmémmﬁﬁiﬁﬁﬁ%m“ﬂ'4"”’ﬁl@
(-8,-2)8 2

Find the area of the triangle, whose verticesare {0, 4), (3,6 and

(-8,-2) rcspg:tivcly.

T FET © cosec 39° cos 51° + tan 21° cot 69° - sec?21° 2
Evaluate : cosec 39° cos 51° + tan 21° cot 69° - sec 21°,
g #{ f% sec*0-tan'e=1+2tan?s. 2
Prove that sec* 8- tan® 0=1+2tan?0.

ferg %t 5 (V2 +2)2 & axafia Fen R | 2
Prove that (2 +2)° is an irrational number.

fewma g x ‘3*Wﬁmm3ﬂ‘?@ﬁwm%iﬂaaﬁw
H qegar 1 " w1 )

Find the zeroes of the quadratic polynomial x* -3 and verify the

relationship between the zeroes and the co-efficients

241”1‘1’”5-41{30]160;513; Page 40 gﬁ-S‘




10.

11.

| 110 ]

ﬂ 4 3

! a’gﬂZ..t -2x —x+2ﬁi@:x2_3x+2ﬁmé| 2

Divide polynomial x* -2x> - x+2 by the polynomial x?-3x+2.
meﬂ@maﬂmaﬂzszqismmnommﬂt 2

Using Euclid division algorithm, find the HCF of 252 and 594.

5 preferfaa sfwe] &1 o 3@ =t 2

| = 4 6 8 10 12

AERA 4 8 14 11 3
: __.-________-—-—4

Find the mean of the following data :

I
Variable 4 6 8 10 2
Frequency 4 - 8 14 9 3 ]

@iﬂﬁﬂmaﬁﬁzlqﬂ%msﬂmﬁﬁﬁﬁaﬁﬂqﬂ%ﬁa

s oh NP w R 2
A circle is of radius 6 cm. Find the length of that chord of the
is at a distance 4 cm {rom centre of the circle.

@ F FNHF @ 9 TER

2

circle, which
ofy =89% (a+2)x*-3ax-2 ¥ TF LIF

Al

If one zero of the polynomial (a+2 }xz —3ax -2 is negative of other

then find the polynomial.
aﬁﬁﬂﬁﬂlﬁﬁﬁma:frﬁﬁilﬁﬂzgaluﬁﬁwﬂgmém
m%aﬂﬁmaﬁtlywﬂ%WWI 2

The sum of the digits of a two-digit number is 9. If 9 is added to the

number the digits of the number arc reversed. Write the equation

for these statements.

24:M}-Hfs-41001-¢mm,i
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13,

14,

13.

16.

17.

(110,

Rl g V2 x+J/3y =0 am 3 x-J/8y =0 H gl T fereire
fafa @ 7= =% 2

Solve the pair of equations ﬁx-l-ﬁy -0 and Jﬁx—ﬁy =0 by

the method pf substitution or elimination.

T TN f T, el @@ Fard e 26 . 14 f e 65 A F @
TN H I g Qe w @ 2 2

The length, breadth and height of a cuboid are 26 ™. 14 m and

6'5 m respectively. Find the lateral surface area of the cuboid.

wmﬁwmmmmm;ggrﬂzEﬁﬂSQﬁ‘ﬁs Rl
w3 & B awn 9 T 2

The curved ;urfacc area and volume of a cylinder are 264 m? and
396 m* respectively. Find the radius and height of the cylinder.

et vig & 3R N e 77 3 7w dwrd 21 A 2 A TF F EH
farret) -2
The base radius of a cone is 747 cm and its height is 21 ¢cm. Find

the volume of the cone.
gfe frdt AP, % YuW 14 91 1 AM 1050 2 AT FHHI YN 92 10 & A
20 97 9¢ 71 Wt 9

If the sum of the first 14 terms of an A.P. is 1050 and its first term
is 10, find the 20th term.

I AP, & YUW 22 95 N A 7a K fowd ad am 7 2 sl 29l w
149 B 2

Find the sum of first 22 terms of an A.P. in which common
difference is 7 and 22nd term is 149,

[24(M)-H/S-41001-(60/60) Page 42 of 48




18.

19.

20.

21.

22.

23.

24,

_ 1110 ]
¥R PS ABC #) TR% w1 o ¥ A fug wt & B @ Md &4

-‘é_:ia &) 2
Each side of an cquilateral triangle ABC is a. Provc that the
alutudc of the triangle is ga.

R w0 0x?_6xl -0  Rdwd g W @ Fe g A TE
Wy | 2
Find the discriminant of the quadratic cquation 9x’ -6x+1=0

and hence find the nature of the roots.
k & f wet % R Raw afem (ke 1)x?-2(k-1)x+1=0 % 10
T M P 2

For what wvalues of k has the quadratic cquation

UC'*UI? - 2(k-1)x+1=0 equal roots ?
ﬂﬁﬁstﬂa.P.w?hmm’rtthuzm:4am-a§a’rwA.P.im

- W2 A FT 2 2
If the 3rd and the 9th terms of an A.P. arc 4 and - 8 respectively,

which term of this A.P. is zero ?

% fra qA ¥ Rg efe ke y=1 M (k+1)x+2y=3 T F3 g
Tt g 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.
4tan245" +cos? 30 -sin’ 60" F1.HT F H 2

Find the value of 4 tan? 45"° +coa? :3-(‘)"-si1:12 60" .
HFﬂﬁﬂWx+-i—=3.x¢0 ¥ ril # 14 HI 2

Find the roots of the equation x+%=3, x#0.
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20,

27,

28.

29,

30.

[110]
af2 #id A 8 BC

2

AABC W Triag g & Rradap= AC - 13 84 1

oA s R s 5 9 Q) @ BC R wwd @ R
ch AB = AC = 13 cm. If the

AABC 35 an isosceles triangle in whi
BC is 5 cm, find the

length of perpendicular from the vertex A Lo
length of BC,
x 1 A P e forg sl P(x, 4) @ Q(9,10) % FT F gl

10 5T R 2

Find the value of x for which the distance betwecn the points
P(x, 4) and Q(9, 10} is 10 unils,
Rl (-3, 10) 3 (6, - 8) F g T YwrwE F fag (- 1, 6) F6R

R B T s @ 2 2

In what ratio docs the point (- 1, 6 ) divide the line segment joining
the points (-3, 10 ) and (6,-8) ?
T 15 ) T @ Han & wm 60° W w0 W ) HAR w3 g K

Fard 7 #X sgl D) Han + wel sl 2 2

A ladder 15 m long makes an angle of 60° with the wall. Find the
height of the point on the wall where the ladder touches the wall.

& agl i e ) gd f dwrd 15 it R 20 B d @d go T o
T &9%A 79 i) 2

The length of the minute hand of a clock is 15 cm, Find the area
swept by it in 20 minutes.

2 arEl F T WY S A @ O F IR A 3 F A g Y w
"1 {4 @1 Wi = gt 2

Two dice arc thrown at the same time. Find the Probability that the
sum of the twoe numbers appearing on the top of the dice are more
than 9.
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1110
e T v | Long Answer Type Questions

G G 31 ¥ 38 A I W ¥1 g @ P 4w & IW T TS
ai & faw 5 3w fraifie ¥ 4x5=20

Question Nos. 31 to 38 are Long Answer Type guestions. Answer any

4 questions. Each question carries 5 marks.

g ol g ax-5y+1=0 AW 2x-y+3=0 F e dfd 3R

31

32.

33.

34,

@ ¥ = g 2

4 x5=20

T W) S5

Draw the graph of the pair of linear equations 3x-5y+1=0 and

2x -y +3=0 and solve them.

@mﬂmwmzﬁuaﬂm@mﬁréﬂﬁsmmaﬂl_
aﬂgﬁzrﬂamgﬁmwmamﬁmmﬁﬁﬁ

¥R deré Pl o

The arca of a rectangular field is 260 squarc metre. Il
it becomes a

its length

becomes 5 metre less and breadth 2 metre more,
square field. Find the length and breadth of the rectangular field.

Rre 1 s 2 T Bl 3 ATwel 1 SR ) TR S & T
.

Prove that the ratio of the arcas of two similar triangles is equal 10

the ratio of the squarcs of their carresponding sides.

3 J
Rrg %1 sc:: o_, COSE_;: 0 _ sec0cosecO (secO + cosecO ).
e ﬂ — 1 CDSCC G — l

S

scca(} + cosec0
secZ0-1 cosec9-1

= secl cosec( [ secO + cosec ].

Prove that
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L
T .,

36.

37.

1110

ﬁmmﬂ%rmnnﬁxmﬂamﬁﬁmmw%'mm
%) 91 7@ wE) 3

A 20 m deep well with diameter 7 m is dug and the soil from
digging is evenly spread out to form a platform of 22 m > 14 m.

Find the height of the platform.
Em%m—ﬁ%ﬁﬁm%ﬂwﬂmmaoogwm%

T famg ¥ fR % e 1 3R @ 60° 31 o} dm s A et @ A
o ) F9E 3 =) 5

The angle of clevation of the top of a building from the foot of a
lower is 30” and the angle of elevation of the top of the tower from

the foot of a building is 60", If the tower is 50 m high, find the
height of the building.

4 afl, 5 &f Ik 6 TN Yl T @ Brya ) @ Wt ol R @
FEY T 3 Bga 6 = R R g wem B A o e ©
2

'g'fﬂﬂl 5
Construct a triangle of sides 4 cm, S ¢m and 6 cm and then

construct an another triangle similar 10 it whose sides are 2 of the

" corresponding sides of the firat triangle.

24(M)-H/S-4100 1-tso/em|
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_ [ 110 |
E ﬁﬂﬁ"l‘%ﬂmﬁn‘[mmﬁ 5

—Y-aiaue | 80-85 [ 85-90 [ 90-65 [ 95-100 | 100-105 | 105-110 110-115

AR 33 27 85 155 110 45 15

Find the mode of the following distribution :
Class- | B0-85 | 85-90 | 90-95 | 95-100 | 100-105 105-110
interval

—
110-115

Frequency | 33 27 35 155 110 45 L5
7

L

I —
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